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Topic:- General Studies

1) Anu bought apples at Rs. 12 for 5. She targets a profit is 15%. At what price should she sell 10 apples?
/37 5 T DI 1237 & 319 I WM T8 15% A1Y AT ATl 81 39 forg, 32 10 A fra
T W 994 T1fge?

1. Rs. 1.80/ 1.80 *=UU
2. Rs. 3.60 / 3.60 ¥UU
3. Rs.0.36 /.0.36 =UU

4. Rs. 27.60 / 27.60 ¥=UU

Correct Answer :-

e Rs.27.60/27.603UUQ

3) The ratio of two sides of a parallelogram is 4:5 and its perimeter is 72cm. Find its longer side. /

TP R agy B & Y3t BT SuTd 4:5 8 TS 59T uary 72 Tt 1 39t deft Yo ot
HTY JTd P}

1. 16cm / 16 Q&
2. 20cm/ 20 JH

3. 12cm/ 12 94T



4. 40cm / 40 THT

Correct Answer :-

« 20cm/ 20 THT

4) If DEMAND is coded DNAMED and SUPPLY is coded YLPPUS, then how is QUANTITY
coded? / afe DEMAND & DNAMED 3 $ifed fooar Sirar @ Sk SUPPLY &Y YLPPUSQ ®ifsd
forar ST 8, 9 QUANTITY 9 Ha HIfSd far s

1. YTITANQU
2. YTITNAUQ
3. YTUTANIQ

4. YTATUYIQ

Correct Answer :-

e YTITNAUQ

5) Which of the following expression contains only like terms? / ﬁ"ilﬁf@?l Il o '\Q ﬁmﬁ
AT ST UG &

3n2 + 3p2+3m?2, 5mn -7nm +11mn, -5n3 m2 -5nm 4 -5 np3, -5p3>m -5pm -5pm?3
1. 3n2 + 3p*+3m?

2. -5n3m2-5nm 4-5 n3

3. 5mn -7nm +11mn

4. -5p> m -5pm — 5pm3

Correct Answer :-

e 5mn-7nm +11mn

6) Choose appropriate articles for the given sentence:

diploma from ____ university in India is recognized globally.
1. A, an
2. The, an
3.An, a

4. A a

Correct Answer :-



7) Choose the appropriate prepositions for the given sentence:

Everybody  sixteen ____ this town is earning money ___ a regular basis.
1. at, along, through

2. under, on, from

3. over, in, on

4. by, in, at

Correct Answer :-

e over, in, on

8) forar uTqg & 3fd A TP Vsl P fAHTUr H 9T Yoag H 91 Fgd 32
1. dfgavad

2. Ay
3. QT

4. Gfe

Correct Answer :-

9) «Hgord, fUATe!, INuH = aur Hreraar fa ¢aar & waiyard 8
1. STl

2. fawg
3. k@

4.3%

Correct Answer :-

10) 215is percent of 860. / 215, 860 I

1. 65

2.55



3.20

4. 25

Correct Answer :-

e 25

11) Choose the correct form of tense for the given sentence:

'Where's Manu?' He_______ a shower.
1. has

2. have

3. is having

4. has been having

Correct Answer :-

« is having

12) Choose the appropriate prepositional phrase for the given sentence:

Although the partners were ____, they succeeded in paying our bill.
1. in debt

2. in dept

3. in depth

4. indebted

Correct Answer :-

e in debt

13) Which country hosted the Blind Cricket World Cup in 2017? / Ca ke CRIE CAES] forde fay
®U, 2017 P ASGHT BI?

1. India/ HRd
2. Bangladesh/ SIR |8
3. Australia / H\@ﬁﬂ'[

4. New Zealand/q\ﬁﬁﬁ_s'



Correct Answer :-

e India/ HRd

14) Braille is used by people having defects of i aﬁtran?raﬁr% gIRT
N BT IUANT forar et B

1. myopia / e =¥ (ﬂ@ﬁ'q'l)

2. hypermetropia /?:CR'_E'@ @m@m
3. astigmatism /‘z’f@éutcr (Q@"'Iﬁﬁ\_rﬂl)
4. visually challenged /eﬁITSﬁ:f

Correct Answer :-

« visually challenged /eﬁfﬁq

15) The metals that produce ringing sounds are called /a UTqy, < 1]\‘_:ﬁ qreit
Y I FA E, Pgardi gl

1. ductile / dd
2. sonorous / SlIEE

3. conductor / HdTgh
4. lustrous /EITI@FIT

Correct Answer :-

« sonorous / @IH®H

16) SMTURT UTHT & YU HATHIVTETS B A2
1. grforfy

2. HTATH

3. 3T

4. gasitel

Correct Answer :-

17) If the area of a square with side x cm is equal to the area of a triangle with a base x cm, then
the height of the triangle is ./ TFe x YA YOIl aTel T a1l BT &l b x AHY SMUR
el Y & &% d & aRIER g, 99 Y B SHarg Uil



1. 2xcm/ 2x @'Jﬂ
2. x/2 cm / x/2 G
3. x+2 cm / x+2 AT
2 cm / x2 HY
Correct Answer :-

e 2xcm/2x It

18) The bubbles of a gas that break up on baking causing small pores in breads & cakes is due

./ T & gargal ol i gvM W @71 F IRA) ed & o fd ds ok
Wﬁ{ﬁ%%‘iﬁﬁﬁ%ﬁﬁ & PRUGA 3|

1. oxygen / NIERTE|
2. nitrous oxide / ISy 3‘I'VIEI¥I'I$€

3. sulphur dioxide / TeHR SBAHTTRS

4. carbon dioxide / BTI SEHTRSS

Correct Answer :-

« carbon dioxide / BTI SEHTRSS

19) The following question is based on an encryption system in which /Ay Udh Q'%WF‘I’ Yot
W muriva g o

Today is Wednesday is coded as WIT / Today is Wednesdayﬂ"sf WIT@ a‘ﬂﬁ'ﬁf RIS %
He is an actor is coded as AAIH / He is an actorﬂ'ﬁ AAIH ﬁ ﬁﬁﬁ ﬁWT SITdT %

Apple is a fruit is coded as / Apple is a fruit G| m PIfsa forar srar %

1. FIAA

2. FAIA

3. FAAI

4. AIAF

Correct Answer :-

20) Who was awarded the Ashok Chakra during the 68 Republic Day? / 689 U e W
3N T g1 fb 8 et fasam A

1. Gen. Praveen Bakshi/ SFIRE UdIOT a&ﬁ



2. Havildar Hangpan Dada / 89dGR 87U &lG

3. Gen. PM Hariz / SFRd UITH gIal

4. Lance Naik Hanumantappa / &I I §JHIW

Correct Answer :-

» Havildar Hangpan Dada / §ddQR LS RALA

21) Choose the correct form of expression to complete the sentence:

The weekly guide gives details of all the main tourist _____ in the city.
1. spots

2. spotting

3. centres

4. views

Correct Answer :-

22) Which state has announced a blanket ban on polythene bags from May 20172/ fra =T A 'Fl'sc
2017 ¥ UTferdiF &1 wR ot ufasy Y awon 351 82

1. Chhattisgarh / W’R‘E
2. Uttar Pradesh / STURVGR

3. Maharashtra / HEIRTY
4. Madhya Pradesh / TR

Correct Answer :-

e Madhya Pradesh / TR

23) Fill up the blank choosing the correct answer. / T8l TR HT TG B3 Rad ™M B W
5260 (334 + 210) =

1. 5260 x 334 x 5260 x 210

2. 5260 %334 + 5260%210

3. 5260 %334 - 210

4. 5260 x 334x 210

Correct Answer :-



e 5260 x334 +5260x210

24) Complete the sentence choosing the right option:

My friend is very boring because he
1. goes out with his friends

2. is very popular among his friends

3. has only one topic to discuss

4. is very lonely

Correct Answer :-
« has only one topic to discuss

25) Seema wants to gift her friend with something which is made without killing the animals.
Which among the following would be the right gift for her to buy? / T 3= Eﬂ'ﬁ Ca| PO
T IUBR AT A8t & o for ugpait @Y gean fope e w=man man &1 R & &
@iteAT 3ud fore 98l SugR gRm?

1. Leather Jacket/aﬂéﬁa%
2. Animal Fur cap /W%Waﬁaﬁ

3. Nylon Umbrella / T BTl

4. ilk Scarf / X EHIT

Correct Answer :-

* Nylon Umbrella / T BTl

Topic:- Pharmacist

1) The plant which shows hypoglycemic effect due to indirect stimulation of insulin secretion

by pancreasis /Fﬁtﬁ‘iﬂ W%WWW%W&[G‘@W%
Wmﬁ@mumwﬁhm% a8

1. Strychnos nuxvomica /W BESCIEET
2. Gingko biloba / el foean

3. Gymnema sylvestre | o RicoweR

4. Lawsonid inermis | QG- E:Im




Correct Answer :-

« Gymnema sylvestre | ST Riedwex

2) Which of the following diffuses most rapidly across the cell membrane? AEtok: k| CUIR

HIRTHT f3reet! & Hatfire doil & Berar g2

1. CO, / IS TSRS

2. GIucose/"@ﬁth

3. Urea /‘CI;F{'CIT
4. Amino acid / 3HAT QI@S

Correct Answer :-

. CO,/ PTo- SRAHFRZS

3) When a drug is extracted by heating at a particular pressure, the process is called as

/ Tt 3itufY &1 T fafkre g W T 3%, Igua Fe- &1 ufthan
Hgadl ol

1. Percolation / 3{d:gdu]

2. Simple maceration / YR HYJUIF T «d ?I'q—cf:f

3. Infusion / AHHJ (FTWSIA)
4. Digestion / U

Correct Answer :-

« Digestion / UTd-

4) Which organ is extremely sensitive to the action of atropine? ack:| 3T, Q@Tﬂ? )

foran & ufy oifay Sdefta ghar @2
1. Gastric gland / ST&R UfY

2. Salivary gland /AR UfY

3. Urinary bladder / H{ATRMY

4, Heart / gad

Correct Answer :-

« Salivary gland /AR UfY



5) CANCELLED

Salanin, which possess anti-feedant activity, is a phytoconstituent of Neem. The part of this

plant which contains this constituent is ./ H?IT&F‘L ﬁlﬂﬁ Qa-tf‘ﬂ%? Q'%ﬁﬁ
wfauras nfafafd) gid 8, 9 &1 wEdeRdede gar e | a8 MY & frg urr A

UTaT ST 82
1. Bark / ®IdI
2. Leaf / Ul
3. Seed / SISl
4. Fruit/ % d

Correct Answer :-

« Leaf/ Ol

6) Schedule H drugs refers ./ le H &t aﬁufﬁuT, @1 Wehld
Qi

1. To be sold by retail on the prescription of a Registered Medical Practitioner only / FHad tl\_rﬂﬁ

fafdr e & od IR 81 g1 &4 H foh! A
2. Over-the-counter drugs / W—E—WW (ﬁ_"ﬂ Ud & ¢l oI arelt Gdrg)
3. Not for human use / AFGT ITANT %E[ qﬁ

4, To be sold by retail without the prescription of a Registered Medical Practitioner / T qﬁﬂﬁ

fafra® & Ud & o1 Gaxr &0 H fap! A

Correct Answer :-

« To be sold by retail on the prescription of a Registered Medical Practitioner only / FHad tl\_rﬂﬁ

fafbed & Ud WR 81 Gl U H faeh] B3

7) Which of the following isomer is more potent as a muscarinic agonist? Ak Ean kel

TSR (GHTGTE), FRB R Srfere A siftre wifdrawmmedt giar 82
1. Trans-isomer / ZI9- 3SR

2. Cis-isomer / RIG-3SHTR

3. R-isomer / 3{R-3TSHIER

4. S-isomer / TG-3TSHR

Correct Answer :-

o Trans-isomer / W—&m



8) What is the life span of the platelets? /m @1 Sita+ 3rafe feat Eﬁ'cﬁ %?
1.1-2days/ 1-2 faa

2. 7-10 days / 7-10 fa

3.1month /1 #HIg

4. 45 days / 45 ﬁ_"f

Correct Answer :-

. 7-10 days / 7-10 f&

9) As per the sieving method, the powder is passed through a set of sieves which are

arranged in /Wﬁfﬁ%mﬂ,mﬁm%ﬁzﬁiﬁwﬁm
ST 8 St # fammfa gt 8

1. Random order / 38H b H

2. Ascending order / 3RS HH
3. Descending order / 3RTe! HH
4. Any place / fbdl 1l RIFM W

Correct Answer :-

« Descending order / 3Rl HH

10) CANCELLED

What is the incubation period of pneumonic plague? / ?:gn’rﬁa? T (ﬁ?‘qﬁ} Ca| 1ﬂ"'l) 4|
I 3afd fa gidt 82

1.4t07days/4®7%:[
2.1t03 days/ 193 feT
3.7to 10 days /7 ¥ 10 f&A

4.2to0 10 hours /2 ¥ 10 f&

Correct Answer :-

. 1to3days/193f¢A

11) The term “Human Poverty Index” was introduced in which year? / Rleg “HIHd T

gawie fea ad ¥ ylaurfea far mar ur?

1. 1996



2. 1997
3. 1994

4. 1995

Correct Answer :-

e 1997

12) In CNS, the main excitatory neurotransmitter is ./ CNS H, HS] RISIOEY

GIEERCIRG gaT gl
1. GABA / SIITEIT
2. Glutamate /"?EI'EI_C’

3. Glycine /"FI'I’E'{@FT
4. Dopamine / STaHA

Correct Answer :-

» Glutamate /W‘c’

13) Potassium arsenite solution was used in the treatment of ./ areRra| Gﬂﬁﬂ'l?g?_'

o= &1 3Uai, & SUTR | a1 Srar AT
1. Heart disease / g4 el I
2. Hormonal disorder / _Efljﬂ%'f et I

3. Leukemia / Fﬂﬁﬁfﬂ

4. Antidiuretic agent / UCISRIC® Tolc AT T AT ! HH HA dIdl Toic

Correct Answer :-

» Leukemia/ @&l’cﬂ

14) Secologanin is one of the important precursors of the biosynthesis of .

CEARIDIECH & TYRAYUT & Hgayul SRRTHGI # T TS 3
1. Scopalamine and caffeine / E’ﬂtﬂaﬁ_"{ Qa %qﬂ:f
2. Quinine and vinchristine / ﬁ:[ Td fdfore

3. Ephedrine and hyoscine / Qﬁaélﬂ ud ETChﬁFT
4. Morphine and berberine / AIHH TF qa-i

Correct Answer :-



+ Quinine and vinchristine / ﬁ:f Tq fdfhed=

15) Niacin injection is prepared by reacting ./ FraRE éﬁw,
sifuferar grT dUR fFaT WA 1

1. Niacin with heavy water / BRIBEEIRINEGE

2. Niacin with sulphuric acid / TR Gal ﬂw 3T

3. Niacin with sodium hydroxide / TR @I Afegy E'I?gsi’aﬂ]%?s’ |
4. Niacin with hydrochloric acid / FROTRF @ g sladiN® 3t A

Correct Answer :-

« Niacin with sodium hydroxide / FOTRF @1 AIfead gesiass &

16) Which among the following hydrocarbon have two double bonds and one ring, found in

oil? / =1 ® A T TS ST W & f§-smae aut ues i1, o o uran wiran 82
1. Pinene / 1811

2. Limonene / ferai=

3. Borneol / A3

4. Myrcene / ORI

Correct Answer :-

« Limonene / fora=H=

17) Stored blood can be used for ./ YT Yo &1 Eﬁmﬁ GEd
far s wwar 3|

1. 3 weeks / 3 9Udlg
2. 6 weeks / 6 JUdlg

3. 3 months /3 HIE

4. 6 months / 6 HIe

Correct Answer :-

« 3 weeks/3 Hidlg

18) Diphtheria antitoxin is prepared from ./ feuhfear tdefRm
A IR & STl 3




1. Pig semm/ﬁ&?%w

2. Horse serum/‘ﬂ%%?ﬁm

3. Human semm/ﬁ@%?ﬂm

4. None of the above / SURIdd U ﬁ_if EG|

Correct Answer :-

» Horse serum / ‘ah% & IRA

19) A study carried out in Finland has cast doubt on the advisability of the routine use of
hematinics because men with higher level of ferritin were more prone to

fbTeis # fru 1 917 U Sreug %mﬁﬁw%ﬁuﬁamﬂ%aﬁﬁmwm
e o T i R goul # Bikfed &1 3= R gt 8, 379 G
3 HHTaT Bl 21

1. Lung cancer / Cbhl'k:'; BT IR
2. Heart attack / B'I_C; 3feH

3. Diabetes / STATSCI

4. Gall stone / TU@RA & g}

Correct Answer :-

« Heart attack / BT 3ch

20) The name of the Phlobaphene which is present in Pterocarpus marsupiumis called

as ./ SRPTIg 'FIT\‘th T IR FAafh BT A gl
1. Kinoin / W‘Tﬁ

2. Kinotannic acid / fIeAd® Qﬁlg

3. k-Pyrocatechin / %—tﬂsﬁﬁﬁﬂ

4. Leucocyanidin / &I IS &

Correct Answer :-

« Kinoin/ WT%T{

21) Which of the following poisoning can cause Mydriasis? / = o 9 g fawreaar & sRUr W—
fowrR (wsfsaRm) g awars?

1. Nicotine / e
2. Phenytoin / 5 cigd



3. Organophosphates / 3T HIIEhCY
4. Datura / SIgXI

Correct Answer :-

« Datura / SIGX]

22) Who was the first person to identify Kwashiorkor? / PRASIRGR B UG B a1 UYH HfaT
DI U2

1. Dr. Adam Maxwel / S, USH fla:aé?r

2. Dr. Jerald Kwashiotkor / BT, SRTee BRISRSR
3. Dr. Cicely Williams / ST, Rieen faferaey

4. Dr. William Weintracib / €1. faferg ds¢iiia

Correct Answer :-

« Dr. Cicely Williams / 1. R¥ci! faferaey

23) Which among this is NOT an empirical colour reaction for steroid? / ET'H}I T T RIS

¥ fRrw aMgM e 4 T T 27

1. Salkowski / SehIED!

2. Liebermann-burchard / TaRA-aTS

3. Rosenheim reaction / JSI8TSH 3ffHfar
4. Benedict’s test/ SfSdc TRIEUT

Correct Answer :-

« Benedict’s test / SATSaT UIT&IUT

24) What type of fever appears in malaria patients? / o & AR &t {5y UeR &1
R g1 §ER T&dT 82

1. Intermittent fever / STARTRID SA

2. Relapsing fever / W?ﬁw
3. Continuous fever / FRAR TaR

4. Remittent fever / 3IeaTa SaR IT UTST-UIST &R H TeA-dg aTal SR

Correct Answer :-

« Intermittent fever / TARTRAI® Sa



25) Which among the following is used for physiological control of pH? / a9 e

SUART pH & ST fusr & fore farar sirar 32
1. Tron III / TR 111
2. Alum / flhe®st

3. Hydrogen Peroxide / BT3SIo IRIRIISS

4. Magnesium trisilicate oral suspension / fREH EAIE{I%IF“%E 3R T

Correct Answer :-

« Magnesium trisilicate oral suspension / fREH ‘gs‘ﬁl?*ﬂ% 3R T

26) What is the adult dose of Doxycycline in the treatment of Cholera? /%T,VIT & SUTR H

STeiITgaRI 3 aa¥ep! & forg fpa-t gure g+t afew?
1. 350mg
2. 250mg
3.300mg

4. 200mg

Correct Answer :-

27) Contraindicated drugs are the examples of . /L'Iﬁlﬁ'@ SNy
®1 3STERUI gl B

1. Therapeutics incompatibility / i i ST
2. Chemical incompatibility / RS ST

3. Chemical incompatibility and physical incompatibility / RS SR auT Hifas
SRy

4, Physical incompatibility / Wifde srffa

Correct Answer :-

« Therapeutics incompatibility / [EIEsIRRERI]

28) Which of the following formulations would be considered as an oropharyngeal

formulation? / F1=1 & & fora Thteur 3t SR FeTar Gite<or ur wiran 82
1. Linctus / folaeq



2. Mouthwash / ATRSYAIR
3. Elixir / 3{eTeRR

4, Syrup / Ry

Correct Answer :-

o Mouthwash/ ASYAI

29) If a rectal suppository is used to treat a fever, it would represent what type of drug

delivery? / 9fe SaR & IUAR & 1T ST TNS BT SUANT fbar oIrar B, ot g8 snufy
faavur & f59 UoR o Fefia sare?

1. Enteral and local / Texd IR T

2. Parenteral and local / 3AAR 3R R

3. Parenteral and systemic / AR 3R YUIetivTa
4. Enteral and systemic / U3 3R yuretia

Correct Answer :-

« Enteral and systemic / Uexd 3R YuretiTa

30) Which of the following snake has haemotoxic venom? / a3 P ad o

gHIeiT® I8 (faw) ra <iman 82
1. Russell’s viper / WA TRW

2. Krait / B

3. Rat snake / 3 S

4. Cobra / IERT

Correct Answer :-

» Russell’s viper / T CIEER

31) What is the role of Misoprostol? / TRRITWIRGTel &1 T ‘l{&l?ﬂ gl 82

1. Is helpful in preventing ulcers induced by NSAID. / QHQHQNEE_&& GRT IR BTl BT ADBUTH
A g gt g |

2. Can cause constipation. / h oyl h DR EP[ Hah dl %I

3. Does not inhibit acid secretion. / m%wﬁaﬁﬂﬁq‘é’fmél
4, Can delay labour in pregnant woman. / et Wﬁﬁmﬁmmmgl



Correct Answer :-

« Is helpful in preventing ulcers induced by NSAID. / QHQHQ&I'I%?’;[ GIXI IR BTl Bt ABYUH

T Ugas gl gl

32) Which of the following is a plasminogen activator? (7 QT wfeHAo SaR®
82

1. Donepezil / SIHufere

2. Tranexamic acid / aﬁwm SR

3. Streptokinase / @A@Wﬂ

4, Aminocaproic acid / NG URS 3

Correct Answer :-

« Streptokinase / @,\@m

33) Hydroxocobalamin is used as an antidote for ./ Emﬁm Ca) m’q
¥ e Ry =1 & &9 A fear s % |

1. Cyanide / IS S
2. Botulism / a'@j%ﬂ?ﬂ T @Qﬁ‘lﬁﬂ

3. Mercury / URT

4. Opiates / HIah g (\#ﬁﬁ@

Correct Answer :-

« Cyanide / qIg-IgS

34) Calculate the dose for a child who has a body surface area of 0.57 m? and the adult dose

of a drug is 100 mg./0.57a1meTW W%Wmﬁaﬁaﬁwaﬁma&,
W qUEP & Y T Suf &t IR1e 100 Fredma g1

1. 33 mg approx. / TIHIT 33 IERIVIE]
2. 16 mg approx / CIHIT 16 IENIPIE
3. 24 mg approx / CIHIT 24 forefioma
4. 40 mg approx / CITTHIT 40 et

Correct Answer :-

« 33 mg approx. / TTH 33 forciiumd



35) In drug nomenclature the stem, tricin is used for . 3itueig ArHTaeht #

o1, feRe 1 3uah ¥ fore fpar ST 81
1. Antimigraine agents / H_Cﬁtl'lg'a:f Q@E

2. Antidepressants / Qﬂ%—m (m iﬂ)

3. Atropine derivatives / ﬂa'cﬁ:f sikdfess

4. Antibiotics / GTSTATCEHRT

Correct Answer :-

. Antibiotics / TSIaTAIfeag

36) Which among these are used as respiratory stimulants? / = o 9 g B'qth"T, AN WP/
AE SwoiP & U § BT S1ar g2

1. Carbon dioxide with 5 to 7 percentage of oxygen / 5 ¥ 7 Ufaea TeR{TSH arelt Sred SIEEICSIES

2. Nitrogen with 5to 7 percentage of oxygen / 5 T 7 gfa=rd SifeitoH arelt '_ﬂETfI\_IFT

3. Helium with 5 to 7 percentage of oxygen / 5 T 7 gfa=rd SifeRitoH arelt giferad

4. Carbon monoxide with 5 to 7 percentage of oxygen / 5 Y 7 ufaera iTeRftsH arelt sreiA ﬁ\ﬁﬂﬂﬁ_&’

Correct Answer :-

e Carbon dioxide with 5 to 7 percentage of oxygen / 5 Y 7 ufaera MTeRfisH arelt e SIEEIESIES]

37) Licorice, Ipecacuanha and Vasaka possess similar pharmacological effect to that

of ./ AP, SUPTH 38T 9T TR T H G siuthia yuma gid 8 < fp
P A A B

1. Bronchodialator / §-1dhRDB (d\I'd)\I%anCQ)
2. Antitussive / PRRIY®D (TSCRId)
3. Expectorant / PHIIR® (TFIUTEIRC)

4, Laxative / R (éaaﬁﬁa)

Correct Answer :-

« Expectorant / HHIERS (TFHUFEIRC)
38) What is the molecular weight of Papain? / qu_ P SU[HR faar sian %?
1. 28,000 dalton / 28,000 STecH

2. 23,000 dalton / 23,000 STeCH



3. 21,000 dalton / 21,000 STecd

4. 26,000 dalton / 26,000 STeC

Correct Answer :-

« 23,000 dalton / 23,000 STeC

39) Which among this is precipitating germicides? / S"Tﬁ T T Ja8uF a"ﬂE'I'UJT'l'I'Qﬁ %?
1. Hydrogen peroxide / 6I$§\IU1"| U \IGR-H$S

2. Silver nitrate / RIeaR :ﬂ%%:cr

3. Sodium hypochlorite / TSI g UIGIRIZC

4. Hypochlorous acid / TIRUIGIRY 3

Correct Answer :-

« Silver nitrate / FIeaR Iﬂaa

40) Thromboxane A, is released mainly by ./ T A, HEBI 4 |
& GRT Sayad fhar Jar 21

1. T- Lymphocytes /é’f-%rﬁm
2. Liver / g d

3. Muscles / AU

4. Platelets /m

Correct Answer :-

« Platelets /m

41) Coca, opium and hemp come under which Act? /aﬁw, 3B IH TUT YT (%'FlT), foa
Sffran & siaela omd §2

1. Insecticide Act/ PIeATRI® HfAATH

2. Poisonous Act / fauTe sffefags

3. Narcotic and Psychotropic Substances Act / HIg® 3R T gruTelt uerd srfafey
4, Spurious Drug Act / YTH®H 3wy Srffam

Correct Answer :-

« Narcotic and Psychotropic Substances Act / Hlqd 3R 7: gyt uerdf sifdfaw



42) Which among the following is the strongest acid? / = 7 @ #1991 yaaan e 82
1. Amide / UHIS S

2. Imide / SHIS S

3. Sulfonamide / Geh IS S

4. Sulfonimide / GehIHZS

Correct Answer :-

« Sulfonimide / GeHIHTSS

43) Injections are generally sterilizedby ./ 3’@3317'[, I &9 J
& g1 faxise1fdra an fsifa forg oid €1

1. Dry heat method / ][t HBH fafer

2. Moist heat sterilization / 3ﬂﬁ 3 fagepriad

3. Tyndallisation method / IESGI%@, g fafdr
4. Pasteurisation method / UT%RIEQQI:I fafer a1 R prur fafy

Correct Answer :-

« Moist heat sterilization / \3‘|'|§ 3 fagep1iad

44) Air-tight containers are used for ./ WYY CIgC &= &1 IugT
Refraramadl

1. Liquid preparations / dX¢l JIR B

2. Capsules / %UFE‘[

3. Injectable products / Soldedd UISde AT SolaRM fGU S a1 IdTal

4. Tablets / %@af

Correct Answer :-

« Injectable products / SoGe T UISae T SoiaRM foU SIH ard IdTG)

45) Buffer is a solution of ./ dPR, 31 faaa 21

1. Strong acid and its conjugate base / Ul &I dYUT BRG] ﬂgﬂ:ﬁ &R
2. Strong base and its conjugate acid / Udcl &b dYUT m Wrﬂ ST
3. Strong acid and strong base / US ¢ 3T dUT YT &RP



4. Weak acid and its conjugate base / W 3T YT T FTT-ﬁ &R

Correct Answer :-

« Weak acid and its conjugate base / _g';_@i.?[ 3T YT S Hﬂ'mﬁ &R

46) The most common childhood malignancy is known as ./ TIU B qaiUPd
T YTl B & =Y H AT AT 2 |

1. Acute Myeloblastic Leukaemia (AML) / UR[C HRIlSTRe D Wﬁﬁﬂiﬂ

2. Acute Lymphoblastic Leukaemia (ALL) / URC fep IR ('i;LaOIrJ\-IqI

3. Chronic Myelocytic Leukaemia (CML) / 1= HIACITSICdh gab H T

4. Chronic Lymphocytic Leukaemia (CLL) / ShI-id fopragfes @&I’W

Correct Answer :-

« Acute Lymphoblastic Leukaemia (ALL) / ToRIC ferhIsiiRe s wgah o]

47) Digitalis leaves are commercially adulterated by ./ f&forefere ufrrai #t
T ©U 9, # firerTae 3t &Il |

1. Lavender leaf / A0SR &1 Uit
2. Datura leaf / SIGRI DI Uccil

3. London-pride leaf / dGA-urss Tt
4, Comfrey leaf/ PHITh Uit

Correct Answer :-

« Comfrey leaf/ HI8b Uit

48) The glandular trichome which contains active phytoconstituents of the plant is ./d8

i ez, Rrad Y & afra wredeeiitca g €, 2
1. Belladona / é?«n‘eﬁm
2. Cannabis / YT

3. Datura / STGXI
4. Ergot / 3ife

Correct Answer :-

e Cannabis / HITT



49) Site of action of ADH is . /E@ﬁ@ &t foparfafe, Tgisl
1. Proximal tubules / THTTRY AfCThT3{t

2. Ascending loop of Henle /%@f% &nﬂ'sﬁum

3. Descending loop of Henle /%ﬁéﬁ GITJIWUTQT

4. Collecting duct /mm

Correct Answer :-

 Collecting duct /ﬂ"‘/'l'l_@ alléiil

50) Anti-muscarinic agent preferred in the management of motion sickness is ./ H=E

e & yae # ¥ T aep e weie 3
1. Atropine methonitrate /Q‘@ﬂﬁﬁdlﬂlsaa
2. Scopolamine /QEIOAFCF[@'I'QT'&':T

3. Homatropine methyl bromide / GHC IS (HUTSH SIHSS

A

4. Ipratropium bromide / 31'@?5@'511[@%

Correct Answer :-

« Scopolamine /EIOAFCnWTIETT

51) Liquids which decompose at or below their boiling point are purifiedby ./ dg
TR Sl YA FGYiP R g1 ITA HH dYHE WX Aqafed gid §, > gRT

JSIPpd [T Td §1

1. Fractional distillation / 371 3rqa SharHd fSfeazm)
2. Destructive distillation / YTd 3THI (%?Ew%a %‘%ﬁ?ﬂ)
3. Steam distillation / TS8-I (R‘Tq %@ﬁ?ﬁ)

4, Distillation under reduced pressure / P H qdId & ded 3THdd

Correct Answer :-

« Distillation under reduced pressure / P H ¢dld & ded AHTHd-

52) If the iodides are used in solution as expectorants, it is protected by sodium thiosulfate

which acts ./ Ofe TAISTSS T faaa # SUANT TRIUFE Red
(FHIHRS)) & U H fHar S1a1 8, aw@mm%mmﬁm%vﬁ
& S UH F HIAT 2|

1. Oxidizing agent / SiRfTpRul (Hﬁﬁ@gﬁ"ﬁ goic




2. Neutralizing agent / TShT R Tt ((YZATSISHT) Tole

3. Acidifiers / 37T (TRTSTHTIR)
4. Antioxidant / Qﬁ\-’ﬁﬂ?ﬂ@?

Correct Answer :-

« Antioxidant / Qﬂm

53) Development of brownish colour and then changes to green, occur when nitric acid is
applied either directly to powder or to solution of aloes of the variety is used for the

preparation of /mnﬂmm%ﬁaamaﬁ?ﬁwﬁﬁuﬁaﬁaﬁm,
T 99 g1 8 9 A1gfe® o Wi urssy H framan sirar 8 a ot dard
& foru swaHTe fru oH are yerfa &) vae (@rRe) & faaa= A e smar g

1. Cape aloes /U Q!

2. Curacao aloes / W\’rﬁ 3dY
3. Socotrine aloes / Fﬁﬁ_@:{ 3dg
4. Zanziber aloes / \_rlTrﬁER \’ﬁﬁq

Correct Answer :-

» Cape aloes / &Y 3l

54) Biological and biotechnological products are included in ./ Sifa® iR wig

MNP IATel 3 e far mar g |
1. Schedule A / 3 T

2. Schedule B / 3T ol

3. Schedule X/ 3 Tgd! T
4. Schedule C & C1 / gl Tl U1 i1

Correct Answer :-

« Schedule C & C1/ SFTgdl i AT 4l

55) Drug of choice for the organophosphorous poisoning is ./ AT IER R

farwTear & fore adfiw siuf @
1. Neostigmine /ﬁﬁm
2. Atropine /ﬁ?jtﬂ:[

3. Physostigmine / TPTSHIRCITHIZ




4. Acetylcholine /Qﬁlﬁﬂﬁ?ﬂgﬁ

Correct Answer :-

 Atropine/ a?.ﬂm:l

56) Plaster of Paris is used for temporary support in broken bone is ./ gﬁ Eé

aéﬁﬁma?;mmmﬁ%mm@ﬁwwwﬁﬁv

1. CaSOs1/2H20

, CaS0s+2H0

3 CaS04-5 H20

4 CaSO47TH20

Correct Answer :-

. CaS0s41/2H20

57) Which of the formulation is not suitable to ocular administration? /ﬁ'l:l 'ef ﬁ ﬁﬁ:l' B3l

A1, A7 gt fraraaa & fire Sugea A8t 82
1. Ointment / HTSQCJZI'C gl HIgH

2. Suspension / I a1 fAdied

3. Liniment / feiHe a1 ey

4. Solution / faea

Correct Answer :-

o Liniment/ forde ar g

58) The VDRL is used for diagnosis of ./ VDRL T SUTRT &

e & fore far Smar 81
1. Hepatitis / P EES]
2. Syphilis / IUGET (Rifthfer)

3. Typhoid / TAHITS

4, Cholera / %Trﬂ @\I%‘ITD



Correct Answer :-

« Syphilis / IUS (RAfthfer)

59) COC pills are not recommended for women feeding the babies because ./ COC

Miera, g B AU HRH aTdt Afgars &1 T8 &f 91 Iifee, Fife

1. It may affect the babies growth / dg Sl B T{@ DI TS BR bt &

2. It may affect the quality & quantity of secreted milk / Ug Hifad g1 arett <Y Gl U T AT
HIAT 1 YHITI HR Febell 5 |

3. It may cause stroke inbabies/mwaﬁﬁﬁwma%aﬂwgfwal

4. It may cause blood clots in veins / sH@I T H I9d o Yadh oH Jhd %I

Correct Answer :-

It may affect the quality & quantity of secreted milk / g Hrfad g arat [ GA| U T dUT
AT B TUTIT R Gl 5|

60) Full form of LSD is ./ YATHS! (LSD) $T YUl U 3

1. Lysergic acid dimethylamide / forafSie uitres safiugaass
2. Lysinic acid diester / e TR SRR
3. Lysergic acid diester / forafoie TS SrewR

4. Lysergic acid diethylamide ANEISED YR SIUYIQUHIR S

Correct Answer :-

« Lysergic acid diethylamide / TSI TRTS SAURTHRS

61) The constitution of Pharmacy Council of India (PCI) takes place at every ./ MRA™

Ayl uiug (fRfterns) &1 7eq, uds qIg g gl

1. 4Years/4aﬁ

2. 6Years/6aﬁ
3.5 Years/ 5 aﬁf
4.3 Years/ 3 aﬁ

Correct Answer :-

. 5Years/55|ﬁ



62) Chemical name of Ephedrine (C;(yH;5NO) is . /Q'a)_gﬂq (C19H15NO) BT

IS AT gl

(-) erythro-p-[(methyl-amino) ethyl]-benzyl alcohol / (-) TIRM-p-
, (AT oS Tehd

(-) erythro-o-[(methyl-amino) methyl]-benzyl alcohol / (-) TRR-
, o-[(HTYT-THA) Afdd]-a=A5d Tohgd

(-) erythro-p-[(methyl-amino) methyl]-benzyl alcohol / (-) THL-
, P(ERE-THAE AR-a=Ee teeed

(-) erythro-o-[(methyl-amino) ethyl]-benzyl alcohol / (-) TRY-o-[(AfA=-
. THEY TfAe]-SeSe Tedhigd

Correct Answer :-

(-) erythro-o-[(methyl-amino) ethyl]-benzyl alcohol / (-) TRY-o-[(AfA-
_ THE) ufde]-dease Tedled

63) CANCELLED

Diarylheptanoid is a chemical constituent of turmeric, this constituent is known as i
STRUWPHISS, §d! P IS 9P §, Ig Uch & a9 Wt
EIGI6]

1. Curcumin / Eh_{a?l&l:f

2. Curcuminoid / PREFIEATS

3. DL-ar-termerone / Sleﬂ-&R- EEIE

4. Demethoxy curcumin / SEIC] m_"f

Correct Answer :-

« Curcuminoid / Wﬂvﬁré

64) Rabies is caused by WEL |5 & PRI gl % I
1. Lyssavirus type 3 / AGTITAIIRY ¢18y 3

2. Lyssavirus type 4 / AIITITAIORY <130 4

3. Lyssavirus type 2 / AIOSITARORY 12U 2



4. Lyssavirus type 1 / AIICHIARRY TI8Y 1

Correct Answer :-

« Lyssavirus type 1 / AIISIIIRERY €84 1

65) Wool sweat or Suint consists mainly of ./ &1 g T Joldg, HEI =7 |

ST B
1. Potassium salt of fatty acid / el RIS & TRy daur
2. Potassium salt of stearic acid / T TIR® Lﬁl‘s’ % tﬁ%&rﬁlﬂ NEW
3. Sodium salt of stearic acid / TIIR® TRIS & WSTH TG0
4. Sodium salt of fatty acid / B} TRYS & QfSTH Tau

Correct Answer :-

« Potassium salt of fatty acid / et s F IR dqur

66) The trial is so planned that the participant is not aware whether he belongs to the study

group or control group is called as ./ wmﬁuﬁ&m OreET dUR frar
m%uﬁuﬁﬁqua%ﬁ%agamwﬁﬁm%%ﬁﬂawwﬁ,
Pedldiel

1. Double blind trial / f§ 313 URI&U1 (ST SIS S CRIC)

2. Single blind trial / Tl 313 UA&UT (R selS € TRI)
3. Triple blind trial / fcT&RT 3131 URI&0T (ST TS TrAen)

4. Control blind trial / AT 3151 TR0 (gidl &M1SS TAW)

Correct Answer :-

« Single blind trial / Thdl 313 GRI&0T (RIS SIS S <)

67) Antibodies which make the bacteria more susceptible to phagocytosis are called ./

ot Gdtarele, Siary & YersTurferar & ufa sifd Jdea=iia 914 €,
PEAd S |

1. Agglutinins / Q‘Ejé”?‘l'_‘lﬂ ’CIT“VTQ%W
2. Precipitin / ufafafes

3. Opsonins / S
4, Bacteriolysin / CEEIREINIRIRE]

Correct Answer :-



« Opsonins / eI

68) Angiotensinogen is produced by . Qﬁvﬂﬂﬁ:ﬁﬁﬁ, & gRI
Sarfed foar AT 81

1. Kidney / forgil (ddh)

2. Liver / foldR @%a)
3. Muscle / AU
4, Spleen / T (Wﬂ%'l)

Correct Answer :-

. Liver/ﬁ‘lﬁ?(qw

69) CANCELLED

Corpus luteum is maintained by ./ dta-fis & [-1Kd Gmﬁﬁ?QT
STar gl

1. FSH /Ut UuHUH
2. Estrogen /Q@Tﬂ:[

3. HCG / TSl
4, oxytocin / SfRITCIRM

Correct Answer :-

. HCG / TTHToH

70) Vomiting should not be induced in the treatment of i &

SUAR # I 1 I AT

1. Warfarin poisoning/aTa?ﬂ_*[qyl_s:T;fﬁ"T @W)

2. Poisoning with corrosives /Haﬂﬁﬁéﬁaﬁrﬁw
3. Atropine poisoning /ﬁ‘@tﬂ?ﬁw

4. Paracetamol poisoning / ﬁw@mﬁ’mﬁw

Correct Answer :-

« Poisoning with corrosives | BRI Eﬁef CINIACLIESEI



The trachoma control programme in India was launched in which year? / HRd q gﬂﬁ'ﬂT

Q) iz wrdww foa af smey farar war ur?
1. 1973
2. 1968
3.1954
4. 1963

Correct Answer :-

e 1963

72) The main adverse effects of salbutamol are . /Wﬂfﬁ DTS

SHUTT gl

1. Bradycardia and heart block / @I'I@W%CIT ﬁ?%ﬁm

2. Nausea and vomiting / Hadl! aUT Iee!

3. Diarrhea and hypotention / STARAT qUT HECIGEE]

4, Palpitation and muscle tremors /WFTWWWW

Correct Answer :-

« Palpitation and muscle tremors / geRTgC dUT AUl & Wed

73) Tulsi belongs to the family of ./ ﬂ?l'\"-ﬁ URaR 9§
Wafta g1

1. Labiatae / éﬁn‘c"r
2. Lauraceae / FII%F“

3. Liliaceae / m
4, Loganiaciae / SIRIGEI]

Correct Answer :-

» Labiatae / aﬁﬂ_cpf

74) In mammary glands, milk secretion occurs due to WL BT ff',
& BRI gY BT ATGUT a1 ¢ |

1. Estrogen /Q@\T‘H
2. Progesterone / TSR




3. Prolactin / Uidifae
4. Oxytocin / KIER IR

Correct Answer :-

e Prolactin /uﬁﬁ?

75) A detailed study on digitalis was carried out by the scientist . feforefaa &

fowa & s sieag=, fvw dsfe g fvan wa ar?
1. A.W. Eichler / U. soc, 9=}

2. Stass-Otto / ¥CTH —aﬁ?ﬁ

3. William Withering / faferas fagfe

4. Johann Schmidt / Gn_ﬂ:f@@\_cr

Correct Answer :-

. William Withering / faferad fagia



